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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

O 57 weeT A & wEr T« wfafer oo

Problem figure:
Answer figures:
d 2 4 4
>
A B C D

Problem Figure - 927 =7

Answer Figures - 3caR 3epfaar
Choose the correct water image of the problem figure.

Problem figure;
Answer figures:
Fr 'i." @
A R K
A B C D
Ans X1 D

v A
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Xs3C
X 4B

Q2 =fg 5 wEdr 2018 F WHAR & ar 8 e 2019 Fr Fi= @ = grm?
5t February 2018 is a Monday. 8t April 2019 will be a:

Ans w
X1
Wednesday

AR
Tuesday

grHaT

| Monday

F
Sunday

X2

W 3

Q3 Hiy dr mpfa FAE T ahr FHfaar & A Fg @ 72

gf’%ﬁ—»@

Select the figure which does NOT belong to the group.

A, e %
Ans «13

X22

X4

X1

Q.4 v Rarsrelt w1 5w T 4,200 F WtET 71T 7| SHH FFT 8% Fieay & & & HH B 1
TR T A1E ST TEA o gem?

An electric bulb was bought at ¥ 4200 .Its value depreciates at the rate of 8% per annum
.Its value after one year will be:

Ans X 1. T 3,684
< 2. 3,800
W2 33,864
K 2. T 3,746

Q.5 =T # amuifoT B Te2 2017 wioaFar fFg sdT Afsa & AT &2
‘Which Indian model won the Miss World 2017 contest held in China?



http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com

| ST 3TRIS
Zoya Afroz

2 AT AT
Novyonika Chatterjee

| A e
Manushi Chhillar
4. a:lg-
Alia Bhatt

x

v

x

Q.6 e fgadiwr frhe & dIF Qe ua® oI aTel AT fRehey FiA 87
Who is the only cricketer to score three double centuries in One-Day Cricket?

Ans m
XL =

Virendra Sehwag
x 2 Fehr diféer
Ricky Ponting
X fre e
Chris Gayle
v T o=
Rohit Sharma

7 =HH ¥ HiT TN TF THHAF TEddT g ?
Which of the following is a chemical change?

Ans v HerEeT T WeT glalm
1.
Butter turning rancid

x 2, 02 ¥ g@r 8% ST
Making dry ice from CO,

| oifesH a &1 TH/ g
Heating a platinum wire

4aﬁ'ga:r£_|;azﬁuaqw

Magnetisation of iron

x

x

Q.8
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A & o st & P B de e 12

Select the option that represents the number of triangles in the given figure.

Ans Xl-ﬁ
< 2.10
x37
Va0

Q9 g # NvEdr F RT F==aF vieg &= F=r
What is the highest percentage slab for GST in India?
Ans X' 1.20%
< 2.32%
X 3.25%
v 4 28%

Q.10 T AT oITeR T 1000 F FAgat 9T FTee T ST FEAN H 100 F TOT HA R
ST TEAT W 10.06 30 71 STcH Juitss e Hifere|

A positive integer, which when added to 1000, gives a sum which is greater than 10.06
when it is multiplied by 100. This positive integer is:

Ans x1,1
Vo7
<33
X a5

Q11 373t # AN R T aTgd &g (shell) 7 SO g 2
Non-metals generally contain electrons in their outermost shell.
Ans 12373
1

1,20r3
5,6, 7ATS
2'5,5,?or8
8,9 3T 10
3'3,901310

x4_1013r18

10 to 18
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Q.12 R 7w ar fwedt # ¥ A & 75 WFfa F A 7 9@ aren wEr wiatawT

e |
Problem Figure
X ]
-
Answer Figures
- -] L) -]
X a X | X X [
A B C D

From the given four answer figures choose the correct water image of the problem figure.

Problem Figure
X )
-
Answer Figures
- -] L] -]
X al X X X [
B C D

Ans xlA
X:B
XD
viC

Q13 qramgy dr Brsar & yaer e A F e G S 82
‘What is the radius of an atom used to measure?
Ans X, TS FE=
Atomic number
x 2 TIHAIOTH AT
Atomic mass
qIATOES HTFHR
Atomic size
qIATTOSehdT

 Atomicity

v &I

p

Q.14 =f 10kg FeadTar A fell Ivg 9T 20N o 91T A1 8, a o fbeen
grm?

If a force of 20N is applied on a body with a mass of 10kg, what will be the acceleration
produced?

Ans X 1.100m/sec?
< 2. 200m/sec?
< 3 sm/sec?
v 4 2m/sec?

O afFT FT T E:
The formula of Power is:
Ans m
p N qH3
momenturmy/time
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| displacement/time

Q.16 ™% Fxg &I 10 HEHAET &I Biehel FaTs Aol T 3cdol oF § 20 AR H
Zh o @ S ¥ | sEe afafde e g e

An object is placed at a distance of 20 cm from a convex lens of focal length 10 cm. The
image is formed at a distance of:

Ans 5
x 115 AT

15 cm
Xz.sﬁﬁ‘#ﬁu
5cm
20 TEHRT
20 cm

10 HardreT

10 cm

v

F

QL7 o T erecl & S A ¥ WA oG-I H FH AT HH

TehiTer © 3T 9T
Select the word pair that is analogous to the given word pair.
Sankranti : Andhra Pradesh

Ans v HIUTH ;T

Onam : Kerala

ST . 9T
Bhangra : Punjab

X2 o - e
Christmas : Christians
FUF © Fcadl T
Kathak : Uttar Pradesh

X2

X a4

Q18 14, 35 3RX 56 T F.H. fFaaT &7
The LCM of 14, 35 and 56 is:
Ans o 1. 280
< 2.140
<3210
< 4. 560
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Q.19 Rl & S AfEse Py AT Sceng & AEAEe H adars M o
Under which Indian emperor's reign was the Jama Masjid in Delhi built?

+

Ans
x o S
Humayun
CIEES
Babur
X dE=
Aurangzeb

v . TETE
Shah Jahan

< 2

Q.20 =fy TegHifaras # Faiaenar 3 3N sifewie &7 2 &, o voggiiferan Fiwmgs &1
mﬁlﬂ;@%’

If the valency of Aluminum is 3 and that of Oxygen is 2, then the chemical formula of
Aluminum oxide is:

Ans X 1. (AlO)3y,
/< 2. AlO,
< 3. Al 0,
W 4 Al,0,

Q.21 & #x #f gufy &1 & 3 g w5 & T R F aEa & @ S F
FT TS &

Sree and Kavi are a couple. Siri and Samyu are sisters. Samyu is the sister of Kavi. How is
Siri related to Sree?

Ans xlwfnmm‘gtﬁrfﬁmm

Uncle
<2 TS
Brother
X2 T 981/ AEY S8
Cousin
v T sedr /|Ten/ SIS AT

Sister-in-law

Q.22 wfeagyug 5x% — 7x +2 & e o 3 B &, Tl 3eTF sk 1 AT T gl

If « & B are the zeros of the polynomial 5x? — 7x + 2 then the sum of their reciprocals
182

Ans X 1.

B3l =1 WAk WA ~1 rR|EA

Q.23
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forafaf@a & & e i sas # FINVET FT & g2
In which of the following permanent tissues are the cells dead?

p 0

Parenchyma

RIoIARTSHT

| Collenchymas

TFeAFRISAT

| Sclerenchyma

TIAFISHAT

Aerenchyma

X2

V3

p !

Q24 Fwur # 35T T[T F gL FRud @ g

Testes are located outside the abdominal cavity in the:

Ans HARRMA
X"
Urinary bladder

Q.25 aF OIET & BIET TTAT AT ity fSa 72 i [0 FLe I T quT 79 1o aial &
The smallest number by which 72 must be multiplied to obtain a perfect square 1s:

Ans xl_,q_
X 26
<38
V2

Q.26 T A 9T Fr 3 15 freider I Far ¥, 6T o gear € st 20
alIeT I 81 W% a1 98 AT’ Jsar g A 30 Rreey amr war
3T #, 7% after FgEar & 2 40 Rroiwier weer #1 ame fig A Atoe &
& Feae e g &

A man travels 15 km towards east, then turns right and travels 20 km. He then turns left
and travels 30 km. Finally, he takes a right turn and covers 40 km. The shortest distance
between the starting point and the destination is:

Ans 2 1. 50 km
v 2 75km
< 3.100 km
2 4. 80 km

Q.27

Question ID : 9864493624
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Ans

T @ ool A wEdt ¥ Bl ¥ 3E v i i gir 80 Hrex § iy
mﬁnﬁrzu:ﬂuqﬁrmhmaﬁmm&ﬁéaﬁq@aﬁﬁm
HERTF AT 2

If an anchored boat is rocked by waves whose crests are 80 m apart and whose velocity is
20 m/s, then the time required by the crests to reach the boat is

X 1 0.5 @
05s

X 5 S
5s

x 5 02 ¥
0.25s

v 4TS
45

Q.28

Ans

_70 + 28 + (7-3) =7
_ 70 + 28 = (7-3) =7
X1-9
X 2-69

/<3 -105
v -863

Q.29

Ans

T qieT F WS 7 63 3% ured fFv AfF 84% 3w ured F F sET
qoreT fhaer 3 & i

In a test Paran secured 63 marks that was also equivalent to obtaining 84% marks. How
many marks was the test out of?

~< 180
X 265
v375
x 485

Q.30

Ans

ANRBEFIH O RAA TR FFIE, BANC W30 RF & qu
R ThS §, TR C AR A U A A 24 T F g A wHa §1 A, B R
C eI eT 36T 30 F1 A fhcel Bt & 9 W TS 82

A and B can complete a task in 40 days, B and C can complete it in 30 days while C and A
can complete the same task together in 24 days. How many days will each of A, B and C
take to complete the task individually?

X1 48, 96 3R 32
48, 96 and 32

, 32, 48 3K 96
32, 48 and 96

, 60, 120 3R 40
60, 120 and 40

, 40, 120 3R 60
40, 120 and 60

~<

v

~<
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Q31 vEry fATeFT &1 AROT-FRNET e FiT g7
Which Indian American is the CEO of Adobe Systems?

Ans Xl_ﬁiﬁﬁ%ﬂﬁ

Francisco D'Souza

Mdel ARTIOT

¥ &3 2
Shantanu Narayen

Hex g
Sundar Pichai

T AT HT
4.

X 3.

X
Sanjay Kumar Jha

Q.32 FrETey A1 AT et % T HITRNRI3T 3 ATTH W 71T Sieil sl SeTTeIT shgl ATl &
Reproducing new plants by cells instead of vegetative parts or seeds is called:

Ans & ey
v °
tissue culture

g fAsToT
2.9
regeneration
IELCEL)
X 3 EE-
multiple fission

gl fom=s
< 4
binary fission

x

Q33
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T 7T gFder W FER H 3 97 & & & 1% A=ga & § s o
fafea & @)

aFaed:
T o &t AT §, A AT AT gaE QU AGT HU, o A T
# 3 T Al 7 & amer

o

AT

1. segarEe 8T i T g w1 T Al g
2. fRers g gl & e & A o A E, A O A T W
A& T B
_Con]:-;iid_er the given statement true and decide which of the given assumptions is (are)
implicit.

Statement:
A teacher tells a student, “if you don’t finish your homework, you will not be allowed into
the class™.

Assumptions:
1. Discipline is a way to create effective learning.

2. The teacher will be happy not to have a student who is not punctual in his work.

Ans " dol AT 1 [Afga g

Only assumption I is implicit.
1 3R 2 @t g =@ &
Neither assumption I nor IT 1s implicit.

3_aa—c|3rmm2ﬁ1%?r%|

Only assumption II is implicit.
1 AR 2 gt fafea &

Both assumptions I and IT are implicit.

x

x

x

Q.34 ng
==
=lf=1[=
afy T v BE # Fae v AR IR WS O TEE 9T S @S, ar
TIE gl
Rt
k==
=lf=1l=

If three groups could be formed using the given figures only once, these groups would be

ey, (147),(236) I (59.8)
©(14,7), (2,3.6) and (5.9,8)
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x o (147), (2986) 3R (5,3,8)
(1,4,7), (2,9.6) and (5,3,8)

x o (147), (6386) #HR (2,9,9)
(1,4,7), (5.3.6) and (2.9.8)

5, 247), (138) #R (5,9,8)
(2,4.7), (1,3.6) and (5.9.8)

Q35 10 em 3R 6 cm RA#AT I TF AT W WA GRAT A T FHAGES
T T formeT T FT 60° Bl FHEgsS F Amd  HenieT # fraer
g

A rectangle having 10 cm and 6 cm as its dimensions was reconstructed to make a

rhombus having the same perimeter as that of the rectangle and 60° as one of its angles.

The area of the rhombus, in cm?, was:

Ans x 1. 24\@
<283
< 31643
v 43243

Q.36 FuTor THITATU 3T WFeIIT U8 WSS Fuy (FFHH) $r 9gar Afen
HETETT HiT g7

Who is the first female president of National Association of Software and Services
Companies (NASSCOM)?

Ans aferar AR
p N
Vanitha Narayanan
gEeTe B
3
Debjani Ghosh

xsﬁmrﬂwaﬁ'

Kiran Mazumdar Shaw
, Afeeerr Sifaaraa

X a4
Mallika Srinivasan

Q37
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FH Fea-3Rpler T T L S & T8 WIT HTPhT H HWr G907 Afraa gl

Problem Figure A

C:/
Answer Figures

&) ci/4 é/c} q\:

A B C D
Select the Answer Figure that is the correct mirror image of the given Problem Figure.

Problem Fignre A

CV
Answer Figures

G| 4 e
AR AArARN

B C D

A
Ans xlc
<2 A
< 3B
VD

Q.38 R #T T G T W T H HfFT B gwr wnfaa @ e
‘What happens to the ammeter reading when the length of the wire is doubled?

Ans Xlugﬂ;ﬁgﬂ-m%

It increases two times
v, T% Il T S
It decreases to one half
| TE d-stag 9 ge S @
It decreases to three-fourth
x . 7€ A T g

It remains the same

x

0% fFrmfafaa # & e g ss g &2

Which of the following has NO unit?

Ans et
1

Density

v arafées gdca
- Relative density
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x&ﬁEMH

Displacement
HE]

Pressure

X a4

Q.40 meRtuT & 2w aw b REdt aw FEmat & vy v Refda = @
LHS = RHS g SiTem|

6x4+2-=16
Which of the following signs and numbers should be interchanged such that for the
following expression, LHS = RHS.

6xX4+2=16

Ans 1 X F +, 2H 6 FA I
X with +, 2with 6

xéxﬁt4ﬁqmﬁw
X with +, 4 with 2

s X T+, 16 I 6 FHTA T
X with+, 16 with6

v X F +, 4F6FHIT
X with+, 4withoé

Q.41 e Oo HITT FT oEE FT T, Tk 997 & IAT H HeT g1 afg o &7
HEAT T & SIEA & O g, df T B TH A HY oAy heell 87

The sum of the lengths of the edges of a cube is equal to half the perimeter of a square. If
the numerical value of the volume of the cube is equal to the numerical value of the area
of the square, then the length of one side of the square is:

Ans
1 108 SFrs

108 units
, 36 e
36 units

‘,3_216 ZFS

216 units

x4 288 SHTS

288 units

Q.42 mi%zmaaa:mwamfr#aﬂwnﬁatawmmwﬁgm
T amr &7
‘Who is the newly appointed Governor of Bihar as of March 20187

Ans v e e afors
Satya Pal Malik

, fator s

Kiran Bedi

x
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; g FAR el
Devandra Kumar Joshi

x4 H &Terg gmaT

Ram Vilas Paswan

x

Q.43 W ©TF (Problem figure) @i €T arw =X f&@&edr (Answer figures) & frer
v # Aleaead &1 sa13v & uea ©fF (Problem figure) 37 aR fFeedt & &
et ot 55 21

Problem Figure

-5

ERIcs

The problem figure is embedded in one of the four answer figures. Which of the four
figures contains the problem figure?

D

Problem Figure

-

T () @
Ans XAl_B B C
X2D

X3 A
ViC

Q.44 for=fafaa aedl & F Fla W Tcd A Teal el 3Hed WAHT & |y
TS T 92 3] 3o T S TARISE TeaaT T §7

Which of the following elements has the unique ability to form bonds with other atoms of
the same element giving rise to large molecules?

Ans TeOAIT=TH
Koo 2

Aluminivm
ERE
Hydrogen
V3 Fra
Carbon

CIELEC

Nitrogen

X2

X a4

Q.45 Tarfer 7 3l & gw Iiaa=r & FR0T v 9Fg & ffgd =+ war ar &
The energy possessed by a body due to its change in position or shape is called:
Ans

Chosen Option : 1
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GEEED
kinetic energy

xz_mﬁmﬁ

chemical energy

qTAT] A

<

X3

nuclear energy

| Tfas s

potential energy

v

O o AT HH A NS I N TAS H

E1, H2, K6, N24,

Select the missing term in the given sequence.

El, H2, K6, N24,
Ans X'1.Q72
# 2.P120
< 3.Q720
v Q120

Q47 7% W wwaw =R Yt AR fvtr #Y & 5w 9 R FiF @ aeEe
o o8

T
ot # TEE F FROT TG ¥ AT WA W g ¥ 7F A g T

ECLICH

1. BAT 9§ HEE OF TG AT A g
2. gag =R ¥ T % =T AR A8 g

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:

Due to potholes in the city a large number of people are unable to reach the airport on
time.

Assumptions:

1. Reaching the airport on time is not necessary.
2. There is no other route to the airport.

Ans xlsrr-fraagm?m;rzé’rﬁﬁ%?r%

Neither 1 nor 2 is implicit
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v S 3A 2 fga 3
Only assumption 2 is implicit
Faer A 1 RAfgT 7

) Only assumption 1 is implicit

| FeE 19 2 A e §

Both 1 and 2 are implicit

~x

x

Q.48 foam T =1E v GRER F AfdE oY @ aier § e Fo T 233650
8l

ar siirsy B & v aiffs 599 e &

Expenditure of Family

mFood M HouseRent M Entertainment m Child Education W Medical m Provident Fund

Expenditure of family- aTieni= @=r
Provident Fund- oifsr fr  Food- TWieZ erer
House Rent- & &1 famgram Entertainment- AT

Child Education- s==it % 9ar$ Medical- garsar

The chart represents the domestic expenditure of a family per month with total
expenditure being T 33650 then the annual saving for provident fund is:

Expenditure of Family

Enterta
inment

9%

mFood M HouseRent B Entertainment m Cnild Education W Medical M Provident Fund

Ans X 1T 4038
< 2. T 4083
X 3. T 48,465
W 2 T 43,456

Q49 v Foa H w5 3R wETHal 1 Fgwa 3:2 71 T RN @it B FA
wE foRaeT g weear 7

The ratio of boys and girls in a club is 3 : 2. Which of the following could be the actual
number of members?

Ans x 1. 18
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V225
<316
K424

Q.50 T weftia wea-fRT 9N 3ok gl # ¥ el v o wieafza ¥ &

Problem Figure:

2

Answer Figure:
A B C D

Problem Figure - weeT fors

Answer Figures - 3ca¥ 341351%&?

The following problem figure is embedded in one of the four answer figures. Choose the
correct figure containing the problem figure.

Problem Figure:

2

Answer Figure:
A B C D

Ans xlA
v2C
< 3B
X 4D

Q51
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Sugar- R Wheat- 31§ Rice- =ITael Others- 3ed
femm = O1$ = FT Fue B AE AgER F o F gefer 7

ofg et $T YgEr 6000 = &, & Fo YeER = gl

The given pie chart represents the annual yield of certain crops, in tons.

If the yield of sugar is 6000 tons, then the total productionis __ tons.
Ans X 1.30000
v 2.27000
# 324000
X 4. 25000

Q.52 fadft sefegy g #, fega F=i # ofafia = arlh z= @i @ &2

In a hydro-electric power station ultimately which energy is converted into electrical
energy?

Ans EC )
p "
Mechanical energy

X 2 fufas w=r
Potential energy

| IS F=
Heat energy

| et
Kinetic energy

~x

v

Q.53
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aifear Ay St oF €}
w7 |9 |gfler |9d | afewe | sew
.
1 A 40 | 37 | 35 27
2 B 6 26 | 76 86
3 C 83 | 71 4 21
4 D 1 7 3 11

The party that won the least number of seats is

Parties and seats won
Serial | Party | South | East | West | North
No.
1 A 40 37 35 27
2 B 6 26 76 86
3 C 83 71 4 21
4 D 1 7 3 11
Ans o 1. D
< 2B
X3C
<aA

Q.54 =i % FEa A 30% $1 3hE @ A ¥ T B Ao Fr T Fraw wfaed FAF T
T B e cra & S Ry

The price of the sugar goes up by 30%. By what percent should Sita reduce her
consumption so that the expenditure does not increase?

Ans ", 123 i%
13
; 1

2.22 -9

~ B3
< 3.23%
< 4.22%

Q.55 T& 160 HieT ol & 740 X o d oT @ 40.5 Hhs H IR A &1 & A
afS =Far &7

A 160 m long train crosses a 740 m long bridge in 40.5 seconds. What is the speed of the
train?
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Ans

. 80 fepciaeT ufd e
80 km/h

, 85 fehaiidter ufd e
85 km/h

x5 75 feheiafiex afd wer
75 km/h

. 70 fereitTey uf wer
70 km/h

X

Q.56 & 7% I W fmm i ¥k 97 F & & @ Turomdt F & Fi= @

Ans

A=A 2

gfFm:

2

T w ol sl T F R agd s R aga @
mwgm%,ﬂgm%mﬁﬁmﬁamﬁ#ﬁvzmw
T F T Fzar g1

TEYUROm:

N

1. TR FHAH HEGR B Feg AT TET
2. TR FAAE HEGE  FT U E A T

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
A government servant sitting idle tells a visitor to come after 2 weeks to get this certificate
attested, as he is very busy and have a lot of work.

Assumptions:
1. The government servant wants to help the visitor.
2. The government servant is expecting a favour from the visitor.

SereT THURT 2 safiRa ¥
Only assumption 2 is implicit.
§ Faa qaureT 1 dafafea g

Only assumption 1 is implicit.
RELFECE o ]
Both 1 and 2 are implicit.

4;r;fr1sﬂnr€rzaiaﬁﬁ?r%|

Neither 1 nor 2 is implicit.

v

x

x

x

Q.57 fagai (- 5, 5) 3R (7, -3) =er [W-TUS F IANF ¥ & 31 &F wgaa A

Tranfeg 2= arer ﬁg F forden= T &2
The coordinates of the point that divides the line segment joining the points (- 5, 5) and

(7,—3) internally in the ratio 3 : 1 are given by:

Ans K 1. (_ 2’ 3)

V24, -1)
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X360
Sa(1,1)

Q58 1 AT 2020 Fr FT T A M7
What day would it be on 1%t March 2020?

Ans m
p "
Monday

, SIECIEy
Saturday
UFAR

~x

X 3
Friday

v FEEr
Sunday

Q.59 r=fafEa d@en &, Tod REd (?) & TIH W A Ty HeW H T894 FL

D,GK 2,V

In the following letter series, one letter is missing as shown by the question mark (?).
Select the missing letter from the given options.

D,G.K, 2,V
Ans «’1_ P
X 2R
XL

X aM

Q.60 AT TIAT 3H F -AFE AY T A & 37 F Il F e # I
Y uger S AN 3H AY I OF FT AF T 9% 996 9 F 37 F wWe geh
Af IoAT 37 |

Two-thirds of my current age is the same as three-fourths of that of one of my cousins’.
My age three years ago will be his age four years hence. My current age is years.

Ans x 1. 72
v 2 63
< 354
< 481

Q.61 250 T A1 U faere forme o 1 AMIS% @, AN e & v anaTs
TIFIA T AT FM:

The amount of glucose required to prepare 250 g of a 5% solution of glucose by mass is:

Ans 125 9MH
KL
125 ¢
12.59MH
2

v 125¢g
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509MH

< 3
50g
x 259TH
4.
25g
Q.62 73is o 30 WA °F AT Tcat W TS 3See dTell HET ROl 7
satEed faar o
Newlands arranged the then known elements in his table of octaves.
ans X 163
v 2 56
/< 358
X 417
Q.63 faw 7w FoF W T F R 9w w1 F Ffef@s FvE 7 § sl 7u=
99 H 3T & ¥ o wrT g
X &7 AR g F Frder TET wEem?
HYA:
1. X it Y g=f v wnyr daw # 8 R w= wee
2X# AR T Y § 5 9= B #fieE @ #
Consider the given question and decide which of the following statements is sufficient to
answer the question.
How long will X take to build the wall?
Statements:
1. X and Y together can build the wall in § days.
2. Xtakes 5 days more than Y to build the wall.
Ans 2(" 1.

f&T T 92T @1 Scal & F T 2 kol 9T §, STEih 1 3fhell 9ATST 8T
gl

2 alone is sufficient while 1 alone is not sufficient to answer the question.

v &3
T =TT WO T Soa¥ 2 ¥ AT 1 arver SOt ¥, SEfE 2 3tem wIeT oE
gl

1 alone is sufficient while 2 alone is not sufficient to answer the question.

X 3.
Restma s 3car e & AT ar ar 1 ar & 2 garea g

Neither 1 nor 2 is sufficient to answer the question.

X a4
BT 7T 93T F 3eaT & F fow 1 3w 2 = wurem F

Both 1 and 2 are sufficient to answer the question.

Q64 =& waa y@en fhw AgedT H e &7

Ans

In which continent is the Andes Mountain range situated?

AT
Ko ®
Europe

X2 ”;

Australia
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75 af&or 3@AfET
South America
3SR

Africa

X a4

Q.65 wﬁymmﬁwﬁmﬁm@#mmw
foer$ #1 wRIR w9 & Wy e i T FErE F g 1w e
The base of a triangle is one-third of the base of a parallelogram having the same area as

that of the triangle. The ratio of the corresponding heights of the triangle to the
parallelogram will be:

Ans X'1.3:2
<24 :1
<33:1
vig

Q66 rmfafem # & fFw fes 71 - & S5 W 3 we gem

Which of the below fractions when added to g gives 37

Ans 1
X -3
2
K2z
3
2
¥ &3 1-

11
4. =
2

Q.67 I 2018 TF 3UeRY AFN F FFOR, HI§ F asdhee & ‘Hut sEaw
FT AfF FiT &7

As of February 2018, who owns the Mumbai-based IPL team ‘Mumbai Indians®?
Ans « . ﬁ?.“-‘ziq:r E:E@H
Reliance Industries

x , T 3% sfEar
Times of India
X2 AT F==a

Amitabh Bachchan
X 4 AW Wled

Shah Rukh Khan

Q.68
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faw 1T Joa=al T T A L Tl AT TF a9 F F FE (@) Feed
Ferdedt F & SFER F TREI §F § HTEOT (T B) F

TEFAS:
Tt FaAe AT 7 myfes R gid sueeyr § R o ama F o
g o 3 g

o

1. e dsfost & B o & BT 39 =3 o it siwet
F T F F F F 0 F21 F=w mige
2. 99 e & ®H H & OT WER B A F AMgC]

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the information given in the statements.

Statements:

Though there is advanced medical facilities available nowadays, still child mortality in
India is high.

Conclusions:

1. Medical scientists should be asked to give up their job and work as doctors to save
lives.
2. The Government has to make efforts to decrease child mortality.

e 1 AR 2 e ST e g
Both 1 and 2 follow.

1 3R 2 3= HTEr A T E
Neither 1nor 2 follows.

| A ARy 1 SgERoT e g
| Only conclusion 1 follows.

AWﬁwézwm%l

Only conclusion 2 follows.

x

v

Q.69 ABCS$+#DEF&=?GHI!2*@ %A = 394 & g, o e # Toa s
ey

ASD a @

Using the sequence ABC$+#DEF&=?GHI!2*@, fill in the blank given in the following
expression.

ASD____ G'@
Ans Jl &
X 29
K3 =
X4 F

Q70 [63 —(—3){—2—-8-3}+3{6+(-2)(—1)}=?
[63—(-3){-2-8-3}=+3{64+(-2)(-1)}=2
Ans X' 1 0
<23
v
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< a2

Q7 T H ¥ i @ Oier Tostell 1 Aes A6l 87
Which of the following solutions do not conduct electricity?
Ans WfEgs gEgeaEs e
p N

Sodium hydroxide solution

o ° e

Glucose solution
X 3 vfafes vfas oo
Acetic acid solution

x4.§@a$ﬂﬂmuﬁ?a’l?~r

Hydrochloric acid solution

Q72 ‘Gl Hierw ST A R TE & dwE Fe 2
Who is the author of the book 'Lone Fox Dancing: My Autobiography”?
Ans v e ales
Ruskin Bond
| Houfy T
Arundhati Roy
o osT 2
Shobha De
, A ATIaTer
V.S. Naipaul

x

x

Q.73 & T &, afy SKYJACKING #r AJYKSGNIKC forar =T & o st 75 &

CHEAPJACKS &I & forar smeem?

If in a certain code, SKYJACKING is written as ATYKSGNIKC, then how will
CHEAPJACKS be written as in the same code?

Ans o 1. PAEHCSKCAJ
< 2. PAAEHCSKCAJ
< 3 PAEHCCSKCAJ
<+ PAEHCSKAJ

Q74
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Ay & 1 TR F gAY F BC FH ¥ wF o dnd amt &
HTRTFAT gefr?

1 ] K

A L B
E|F

HM G
D C

‘What is the minimum number of straight lines required to construct the given figure?
1 J K

A L B
E|F

HM G

ans of 117
X214
X218
X416

Q75 wrefgreged, N 3R F@ F o7 I FE W AT 22

Complete digestion of carbohydrates, proteins and fats takes place in the:
Ans X . m ﬁ
Oesophagus

9 H
Stomach
oler H 9 A
Small intestine
4. ﬂﬁ' a.ﬁ%r #

Large intestine

X 2

"

x
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Yo et @S

RRB ALP & TECHNICIANS 2018

IRoll No:

Participants Name:

Test Center Name: [iON Digital Zone iDZ Atmakur Village
Test Date: 29/08/2018

Test Time: 1:00 PM - 2:00 PM

Subject: ALP Technicians

1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Q1

Ans

ROLICD DT D DO(IFHonot Dudain S PF) D DArTrde VDTS & Sod DI &°

D DOV 08 DYONOC.

zatow UV s0dain W en axoes Rmmgm 0003 7 s ?ooa)& 2008, 7 (3 R}o;_)é

e9a3)ER 00t ?
DsOLBe:

1.Z=V-W

2.Z2xV=U
Read the following question and decide which of the given statements is/are sufficient to
answer the question.

If U, V and W are negative numbers, and Z is a number, then is Z positive?
Statements:

LZ=V-W
2. ZxV=U

<L

) D DATEIOTE 1 Srgd DT 008, 900d 2 g DO,

1 alone is sufficient while 2 alone is not sufficient to answer the question.

< 2
0F) 9 Darerdore 1 oBoiw 2 Boctr HOYEroD.

Both 1 and 2 are sufficient to answer the question

< 3.
09) D Darordor 1 o 2 20T 006,

Either 1 or 2 is sufficient to answer the question.

v

D) £ DAFTEIOTT 2 DoegD0 DB B00d, ond 1 07gdo DBI .

2 alone is sufficient while 1 alone is not sufficient to answer the question.

Q.2

()

RAILWAY RECRUITMENT BOARDS



http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com

REOGIED 2 DIFO STCorT LSt 9 Dicsosn JochTocdk.

RAT : 18120 :: GOD :

Select the missing term based on the given related pair of terms.

RAT :18120:GOD :
Ans X 1. 7174
< 27144
< 37164
v 7154

Q.3 30 D0EGRoS” K I5=I) B8 T JobEM JocEod.
. . 1 _
2+5+[5+8+(1+3)-1] =2
Select the option that can replace the question mark (?) in the following equation.

2+5+[5+8+(1+43)-1] =2

Ans «a 1
< 2
5 3.

< 4

L ISR T o T

Q4 42 63 zpdosw 105 cag), ¢z (H.C.F):

The HCF of 42, 63 and 105 1s:
Ans o 121
X 27
< 3. 63
< 4 630

Q5 ZoH Paurirosd’ Gond Do D JocnEod.

(\s ‘ 1 3

|>é »apan

| B
A B C D

Select the figure that does NOT belong in the following group.

5 4 1 3
|1m4 I 2|z xE]|4
| L]

A B C D
Ans X 1.C

VB

()
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X3 A
< 4D

Q.6 X D5y arbie, Y X e a8 Y 89 o JBE EDELA HATHDED” 9D a’b_)x)&mﬂ,
5 Y Sog, X 0108,

If pointing at X, Y says that X is the son of the only son of Y’s mother, then Y’s father is
X's

Ans [l ]
¥V &¥
Grandfather
< 2. c

Father
s AT

Father-in-law
x4 P D
Brother

Q7 HoaTe oay 17 6 (o) 208 SnTregan:

An element with an atomic number of 17 is:

Ans 20& =roiries €575
<1

an alkali metal

208 PO A 75w
x 2. J
a transition metal

v 208 S BD TroinD
3.
a halogen gas

2058 (DD TPl

a rare gas

X 4

Q8 N DIFO Y, 2O OANDEROD 26D JotvEod.

die: wg-DTron (TR0 QT Tin)

Select the pair that is analogous to the given pair of words.
Lawyer : Cross-examine
Ans 2d0: BT

<L
Army : Gun
Tegomo: Kjﬂ5ﬂm.ﬁ°ém
< 2. @
TJustice : Court
P Derces

¥ &)
Police : Interrogate

0bg: dvrsre)
< 4
Exam : College

Q.9
4)



http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com

Ans

?osa‘)ocﬁ i::dsu apr‘.’)aw“'sbé w(_ﬁ§®, sudatn 2860 cﬂ:us‘,zy Hohaw Soboin
RaDEVOIBD DB 0.

The is responsible for precision of voluntary actions and for maintaining the
posture and balance of the body.

1 SDEFROEED (DOE-EI00R)

Mid-brain
s DY) T (00098 5°5)
Spinal cord

s DEDESCD (2Be0)
Cerebrmum

LA DGED (FH8e0
v Al ( o)

Cerebellum

Q.10 15 35" ravne Gagoe? (10 Q0P DVDMo 4 ms™HE SEuenaed. & HPEPD v

Ans

(888 Does?

An object of mass 15 kg is moving with a uniform velocity of 4ms~*. What is the kinetic
energy possessed by the object?

1 1.2 EE-“'{A‘JQ

1.217

60 aZ“ﬁJa
5 2.
607

12 E\E'-“‘;Da
< 3
127

120 &0y
v 3
12071

Q.11 @3gEREH HELD Jeud grdod HBCID 306 LSS IO INBIRVHE

Ans

AgonocnSod.
Heed:
e :ao:ges" erTIo0y &0 adge 3% egam £0Ad
10 rhaner edfren Dodecheomr) o 6 DR X HSdodod.
90T
1. gl &8 edde Tobdart Srgad GO SR0HoEr®m.

2. 20y SDJIT® ST SoarRy SRoEDy

Consider the given statement to be true and decide which of the following assumptions
is/are implicit in the statement.

Statement:

Company X announced that in their company, 10 clerical jobs will be filled, with the
minimum eligibility criteria being bachelor’s degree pass.

Assumptions:

1. Only those who have passed the bachelor’s degree will apply.
2. Masters can also apply.

®)
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esocdeT 1 s0fokin 2 Sodre K);‘o;)ofﬁzjﬁtn.

Both assumptions 1 and 2 are implicit.

- 2905 1 DGR DYBTRVHD.
2
Only assumption 1 is implicit.

- 290033 2 APGRD DYOTTRONE.
3.
Only assumption 2 is implicit.
1 o0 2 DNBTFRIDE.

< 4

Either assumption 1 or 2 is implicit.

Q.12 a6y 2018 TS Dot £5°5 D HE), HYHIAD (CBFC) waggoent M

Ans

DoDooDdegE ?

‘Who has been appointed as the Chairperson of the Central Board of Film Certification
(CBFC) as of March 2018?

200 LIINR
<L
Jaya Bachchan

v > R &
Prasoon Joshi
ESSTALR Y
Subhaash Ghai

e9:0D) BE
< 4
Anupam Kher

X 3.

Qi3

Ans

BIIE ELDLD W0 R ePDotiol: HB0ID HELIBY Aod WALE Sofospeds”
DA ey ot bt Dgonood.

pERden:
ED) sorjoaren SonDen. ) Soden EoFTReD
Awhoyen:

1. S:)‘l SUITURED STUTRI0iomeD.

2. @a‘l SPOURI0ITeD STTPTRRD.

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements:
Some offices are companies. All companies are factories.

Conclusions:
1. Some factories are offices.
2. All offices are factories.

* 1 Sofiosy 1 Sore 2 IE 2088 endntdinod.

Either conclusion 1 or 2 follows.
v SAfioa)) 1 i eoxubloed.
2.

Only conclusion 1 follows.

x swhoinen 1 S0doin 2 ot essuiinnod.
3.

Both conclusions 1 and 2 follow.

(6)
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x B0foRY 2 SR 9R0RBR008.
4.

Only conclusion 2 follows.

Q.14 ZoH Des 3635 D Do JocEod.

{ek|<@|e1| ol

A B C D
Select the option that does NOT belong in the following figure series.

{ek<@{ (el |
A B C D
Ans Xl-D
< 2B
X3C
&N

Q-15 2.8 DTS ammgaxg) 20 oD DD TocD Otw. e AT ammaann cﬁnéb
DO 392 SE0D) DO 00B, D I Jod?

The base of a parallelogram is twice its height. If the area is 392 sq.m, What is its the
height?

Ans X' 1.12m
< 2.28m
¥ 314m
K 4.24m

Q16 162, 54 20000 135 008, (...

The HCF of 162, 54 and 135 is:
Ans x 1.9
v 27
<33
<4l

Q.17

(7)
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QDD DTG BHH 6§ ADND BT 65 6° 250 ANE God. ¢ BT BEH
D0E?

D) eyB

DWW

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

%

Answer Figures

I DWW

C D

Ans Xl-A
<2D
v 3B
F N

18 T e Bravapewn HIS® esotron:

Pollen grains are found in:
Ans
. Ser
stigma
) D& 7ren

ovules
e90CiBEDD)

| locule
v HO°HE TR

x

X 3

anthers

Q19 a5& DD JrHodiol:
252 = [61-{27- (9-8 + T)}]=
Solve the following: L
252 = [51-{27-(9-8 + N)}="
Ans  of 114
<27
< 318
(8)
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X409

Q.20

A &0Bain B en @gr 9 w8 HAD 35 Fexed® 10 AW, A 2000 HASDHLODB,
2265° § 0 g 3%, 200DD DD B 1 dabieio Foth HADDRD, 50 € 0D
210807 L8 Samcto 68 90 Faren Hod. @gos” odos Dod0goTe DD A 8, 2oogo

222 o dovco ot .:)::)‘lt‘f'wm DEIB0H?

A and B can complete a task together in 35 days. If A works alone and completes ; of the
task and then leaves the rest for B to complete by herself, it will take a total of 90 days to
complete the task. How many days would it take A, the more efficient among the duo, to

complete the entire work by herself?

Ans X 1. 45
v 42
< 348
< 440
Q.21 &8 Tepand) SDAcIN) 15 Pipen 2.8 FHD 12 Donares® Dodres. b FOD ed

Ans

HTFRaaNE Dodrmd3 28,56 0o .n:s:o.nnff €:5) 6 PEHOLD Jod DICLOW
SRothoenod?

15 pipes, each having the same diameter, can fill a cistern in 12 minutes. How long will it
take for 6 pipes, each with double the original diameter, to fill the same cistern at the same
speed of the flow?

1 12 Dawaren
12 minutes
10 Dawaren
10 minutes
9.5 Dawaren

0.5 minutes
7.5 Dawaren

7.5 minutes

< 2.

&3

¥ &3

Q.22

208 ©00ih DD DED woL H© 100 DG Grcorie DA Forod Eiared.
SEDEDBID) FyOTTL 50D Difo 25 msTl e DED 08, esrboser 3"3@3&0 Does?

A boat at anchor is rocked by waves whose consecutive crests are 100 m apart. The wave
velocity of the moving crests is 25 ms~*. What is the frequency of rocking of the boat?

AnS  of 1 0.25 25 (Hz)
X 2. 625 °5(Hz)
X 5100 2§ (Hz)
X 4. 25 2 (Hz)
Q.23

Ans

%@%@ S0B0IL (B2 DVBORD PET° LI0LTH:

The sum of potential energy and kinetic energy is known as:

Eﬁ.)étﬁag
1. )
Electrical energy

©)
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garaing 28
X 2 -

" Chemical energy
5°0ed 35
3

| Light energy

oirogds 35
4

' Mechanical energy

Q.24 DSe DBBOES Sudatn e‘)ij).:)ag. Bt Soty ‘f.mﬂ?s.;jcca n)og‘_’g@_sw'a) oo énooe:)o(‘jf.)g
DS FES DODB?

The Union Environment Ministry has launched a pilot project for beach clean-up and
development named:

Ans 2@ o6
Blue Flag

x “&5{5& Ao lL)
2. .
Swatch Bharat

85 6
Green Flag
35 ooz

Clean India

< 3.

< 4

Q25 12°C 2008060 DG DB aIvg) TAE 2D D2e?

What is the physical state of water at 12°C?

Ans eI DE (DEud Hdes)
X (Desogd
Tonic
FAA)
<2 ©
Solid

v &)
Liquid
Feplonhh)

< 4
Gas

Q.26 ey 6 (otor) DB DI 52 4 HA DATPW 2.8 Hesth Sorben Dovz=dy 21 Feveres
SIP0 SODAOW. 2.EDY T 2008 DT Ferh 4 ot 500D DI B3 98 DI T
DY Bevered” 318 Sonrfentderm?

4 workers working 6 hours per day can finish painting a wall in 21 days. If 7 workers
work for 4 hours per day. in how many days will they be able to finish the same work?

Ans X 1. 78
< 232
<324
W18

(10)
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Q27 FSF0F0 TI0E); DIPE0Y BN QO® 0ETD:

The rate of change of displacement is called:
A
ns X . Ak
Speed
GE30
X 2 e

Acceleration

&
<3 ©

Distance
o

4.
Velocity

Q.28 Zod Ao 030E), 57 Peod® PO VBTFAD JodER JocEodt.

Select the option that will correctly fit in the blank space of the following figure.

Ans

b

X 3.

<A

29 2.8 280 BE arned, PUZZLING 2 ZZPUGNIL 17 s08ain JIPITAPA O IPITAPAT
Qer
TPO0RDBE0D, RO SWIZZLED S e0d 6 &° groneld edey?

If in a certain code language, PUZZLING is written as ZZPUGNIL and JIPITAPA is
written as IPITAPAJ, then what will SWIZZLED be written as in the same code?

Ans X1 ZIWSDEZL
# 2. ZIWDSELZ
# 3. ZIWSEDLZ
W 4 ZTWSDELZ

(11)
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Q.30 5 DO 2.8, 285 .D&‘.)b.b £67 2.8 (IEOIPC0L&A eooo 6 96 2OD
fateilovhal) @D)U"‘)d). TRIDOTT a)m“iséwg_o 2 oty AGOITCaA Jodd Rachio
ArRR00H?

A watch gains 5 seconds per minute and was set right at 6 AM. What would be the time
shown on the watch when the correct time is 2 PM?

Ans x migzylo 2.20
1.

2.20 PM

* mvgblo 2.30

2.

2.30 PM

x m5;ynlo 2.50

3.

2.50 PM

aotrEiao o 2.40

v 327

4.
2.40 PM

Q.31 &b 18D D sopden 2017 0w’ ard prdae TG ASfed) Sond e
DFBoticio 288087

‘Which of the following companies was bestowed the status of Maharatna company by the
government of India in September 2017?

Ans X1
€500 @0l TGS T S°8 TR0 (ONGC)
Oil and Natural Gas Corporation (ONGC)
¥ &3
2 6S 265" Ot 5°F 8D dSE (BPCL)
Bharat Petroleum Corporation Limited (BPCL)
28 wrrdd) 3D Rod.oir EE (SAIL)

Steel Authority of India Limited (SAIL)

< 4
DN0S GG) S 056 5T B0 (NTPC)

X 3

National Thermal Power Corporation (NTPC)

Q.32 DS aitanGnmn Hod egrods DuDFANENNM S8 Stend 03w, Do D0?
08 1914 5 DodeyBane” gagedod.

What is the name of the canal that connects the Pacific Ocean to the Atlantic Ocean? It
was commissioned in the year 1914.

Ans x D DOWE0 5P
1.
White Sea Canal

x> 265 5re s
Kiel Canal

BIEIPead” SPE 6

w3
Panama Canal

x4 20 10E SRee
Suez Canal

(12)
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Q33 & o) Aod PBELND B°I) RO JodS DADOC.

E. gextio — Ag
Select the INCORRECT match’s from the following.

A, Copper —Cu
B. Gold — Au

C. Mercury — Me
D. Platinum — Pt
E. Silver — Ag

Ans . A H0boin B

~
AandB

E oo
2

OnlyE

D, B &wdosn C
3.

D,Band C

C ora
4

Only C

Q.34 5 3rrane adain 10 S rane wmapie 2 &8, modien &3 d 35 S8 eov) aw.
DS IF 28 308 GoE'S 2108 Lo DT DOITLIT &) 40 OB D I e0d?

Two balls of steel having mass of 5 kg and 10 kg each possess equal kinetic energy.
‘Which ball is moving faster, if at all?

Ans X 1
10 $65°ra00) 2308 DS Do & HOIFEBRID) &

The 10 kg ball is moving faster.

Boco excrr 2,8 Dijo & HOIFEdOT) 0.
5 2.

Both the balls are moving at the same speed.

v
5 35" TR 2208 HE) D Defo & DOIFBD) &

The 5 kg ball is moving faster.
< 4

(1933 R0 DMTo 2 BEFGDE EOCLD.

Kinetic energy does not depend upon the speed of the body.

Q35

(13)
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ey 12t FEEDD G0, TESCD TrEed DB o0, ST 9D 14t
BErRODS® HHes0e5 Bl SPEAFREADD $DN0) O ocdeatof.

The was built by the Kakatiya kings of the 12" century which was rebuilt by the
Qutab Shahi dynasty in the 14" century.

Ans @m
x 1. T
Agra Fort
x 2 arocd Be

Mandu Fort

v ﬁﬁeﬁ"b{}c‘. e

Golconda Fort

x4 %“1‘:]‘) e

Fort Kochi

Q.36 28 ANALEFET HEDRAD dhng), Do DD Fmanen w8) 56 arasd Faan Sod
[elalite)) esqlaﬁ‘, aress Erasan gy Fee:

If each of the two equal angles of an isosceles triangle is twice the third angle, the measure
of the third angle is

Ans X1 45°
X 2. 90°
W' 3 36°
X 4720

Q.37 Ay WA 5@ OBOID BareD %NS’ S QI God. &7 BT e IDHT

Q0T s
L_'\

—

2ETED) €550

ipweliEslies

A B C D

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

L—

o

Dio|>les

Ans \,1-5
X2 A
X3D
X4C

Q.38

(14)
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808 DAoL B0 &57H0L A0 JotE odt.

[ 1] [e ]
A B e DB
Select the figure that does NOT belong in the following group.

A B C D
Ans XlA
v:D
X 3B
K 4C

Q39 3 Seorrl)y S80 0I08), TP otrdd?

Which cell organelle is called the Master of the Cell?

Ans
v SogiSo

Nucleus
Dotle) 5 0% R0
2.
Endoplasmic reticulum

, Sod=rodo

x

Nucleolus

2eS srod ol
Mitochondria

< 4

Q40 @ DoeS” 370 Heos” VOJ'CDH JodE JoEol.

?

Select the option that will fit in the blank space in the given figure.

Ans

v

< 2

(19)
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PN

Q41 & So& TOS” 208 00D %‘b@oé{q_‘) DIDC IO A&?

Which of the following is not a double displacement reaction?

Ans <. NaOH + HCI 2 NacCl + H,0

X 2 BaCl, + H,S0,~> BaS0, + 2HCl
% 3 CuSO, + H,S = CuS + H,S0,

Q42 DO seHatio T, RASCID 308 TS IB VOIHI 5°?

‘Which of the following is NOT true for the reaction of Calcium with water?

Ans F 95y 5 BODOHOMT &otnodd
" DADCS B AHD

The reaction is less violent

B“Q{ﬁ_)ﬂ DOOTTCIL) DDGVNEBO

<2
Calcium starts floating

DRV D @E‘OEIEYP 08006
5 3.

Heat evolved is less

x H2 ar0dned) Dendtaddd
4,
H2 gas is evolved

Q43 DRriroS™D HEred” DY orP &Y DGR Jocol?

Choose the word which is least like the other words in the group?
Ans [=Teb 12 ]
1.
Squirrel
=31

< 2

Crow

Q44

(16)
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FOND Do & Gzhere dI0g); Doafy Arded JeHER JownEod.

Select the option that represents the number of triangles in the given figure.

Ans X116
X< 214
18
< 417

Q45 eredies malTaT R0aT{RPRHID &5°

AUB N Q) =
In the usual set notation,

AUBNC) =

Ans o 1 (AUB) n (AUC) =
X2 (AUB)UAUC) =
X3 (AUB) N (ANnC) =
X4 (AN B)UMANC) =

Q.46 So0zrse8 %0 50 oSG TisjesTeDy $DH &od. T 3"&)&50 8 otsol.

A convex lens has a focal length of 50 cm. Calculate its power.

Ans  X'1.1D
<23D
< 324D
va2D

Q47 & dod aredeS” DO Desxgd 030, e Srarso?
A) 205° D0d0I NBETO
B) &5%5en andoiw oA

C) &5%fen S0boin Dos®

Which of the following are bad conductors of electricity?
A) Mica and Quartz

B) Metals and Rubber

C) Metals and Mica

(17)
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Ans B 0oty C aramn
1

'BandC{ml}r

A S
2

| A only

A 208050 C arrdan
3

'AandC{)nl}f

A 208050 B aramn
4

'AandBonl}f

2 sinf—cos@

Q.48
20E0% 3tanf=2 eso0d, Seoco—g O005), DD Sa‘n?bcé.

2 sinfd—cosf

If 3tan6=2, find the value of
Ans X1 ()
<2

v
< a.

2cosl=sind

SN A

Q49 90 DRV VIO IV SETD HAODOE” ED0000:
During combustion of unsaturated compounds a is seen:

Ans 8 008y
XKoo
red flame

Hero avoky

blue flame
K}déu aoby

< 2

<3

clean flame
BICIDEY) a0e)

v
yellow flame

9032~ [1- -+ od- (13- ) aos, oo g o0

3

The reciprocal of the value of
e e e el
2
v &1 3
<21

<30
X a2

Ans

Q.51 '292‘350@ CHESLEW (OT70 getd (rogsaﬁ D & DE) DT AFSToHODNE

DadD?
Who coined the phrase *Survival of the Fittest'?

Ans

(18)
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aed &5 2woids
| Gregor Johann Mendel
?ﬂ“tﬁag ?u:l:);‘\'};}ﬁ
Herbert Spencer
o*0R c;‘ﬁ&%
X3 -
Charles Darwin
& 06 HDod Horar

De Har Gobind Khorana

< a

Q52 37 111 s0daosw 148 TB0E), &2, 0T 0.

Ans

Find the LCM of 37, 111 and 148.
<1222
v 2 444
< 3206
< 4. 424

Q.53 @0exd) 1365 53D DETAS (IAF) 2565 &5 Dol Boyerg F9 roBaing ISRO 25

Ans

DOLR QBT 2D 2o JDm?
= ="

Identify the former ISRO chairman and space scientist who became the first Indian to be
inducted in the International Astron Federation (IAF) Hall of Fame.

x K}Gﬁﬁsﬁ el D0
1.

Parmeshwar Lal Saran

v &6 TOIR06) TFe)
2.
Udupi Ramachandra Rao

s, o).a)R). S0ER a0

A. S. Kiran Kumar

ROLIVED LD

O S
Subhramniyam Swamy

Q54 375 Cﬁngzj 56% :

Ans

56% of 375 1s:
< 1224
< 2.196
W 3210
< 4168

Q.55

(19)
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QgD DELDD) DeE0HVT HOModod O DY HELDY Mok D awhcine
S EorT mogbvoaazs‘a DPonosoct.
DD
ED) Lbyen Tiyen. 0y wern T .
snhoipen:
1. E‘.i’)i E.falye.u 25080,
2. By ey Obyen

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
Some chairs are desks. All benches are desks.

Conclusions:
1. Some desks are benches.
2. Some desks are chairs.

Ans 1 S 2 e9:000r000.
r
Either 1 or 2 follows
, S0A0) 1 APt e9:0005008.

' Only conclusion | follows

~<

Awfoa)) 2 ArGD 90000k,

~ Only conclusion 2 follows

X< 3

, 1 &08030 2 essndrow.
" Both 1 and 2 follow

Q56 350e5° 58%:
58% of 350 is:
Ans  of 1.203
< 2.196
< 3217
< 4210

Q57 306 HAWEFoeS DoGD e3EAD JochEod.

A B Z D
Select the figure that does NOT belong in the following group.

AR [P
A B C D
Ans \’LD
<2 A
X3
< 4B

(20)
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Q.58 Icce g, >0 D6 R DT rE ?assaua.a UL ooty §3¢5

Sorsedoty o ?

‘Who is the first Indian cricketer to have grabbed BCCI’s Polly Umrigar Award three
times?

Ans . T30 (5026

~<
Gautam Gambhir
, Do. DD 85
M. S. Dhoni
| Does S
Virat Kohli
DD Bocirubé

Sachin Tendulkar

X

v

4

Q.59 28 252 e SFesa (i P 11: 25 2D &5° DHBODDED TEDD artio aag),
Tezay) Joed?
When a wire 25.2 m long is divided in the ratio 11 : 25 the length of the longer piece is:

Ans 15.2 Hoeocd
~< L °

15.2m
7.7 Doexd

7.7m
17.5 Qo6

17.5m
18.4 dotadd

18.4m

5 2.

¥ &)

X 4

Q.60 . x & DRWEIES DoDBNTPDS 9% Faray HEE 5 VoDSVTOLH TR DD O, ©. ¥
© D E oSBT 7.5% FOrdy SEE 4 DodcnTros” TFod HES DAFIDW. X 1Y
A S,

T x invested at 9% simple interest per annum for 5 years yields the same interest as that on
T y invested at 7.5% simple interest per annum for 4 years. Find x : y.

Ans of'1.2:3
< 2.45:30
/< 316:15

/< 48:9

Q61 &, ;boa;gueﬁ‘ DA 6 DY 2PAoDEICIEDA?

Which of these numbers is divisible by 6?
Ans X' 1. 56792
W' 2 45678
< 3. 34672
< 423456

Q.62 25 erod 2o D AR RErD oGt SIS B30T eroedio dus), 6 b S0 DEDGIE Frdodod!
On whech date Swachh Bharat Mission was started by PA Narendra Mod: to fulfill India’s bigzest dream of being a clean nation”

(21)
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Ans

2. e9Fed 2015
~< L =
2nd OCT 2015
x> 145 Ha0eab 2014
14th Nov 2014

259 eofead 2014
v &3 e
nd OCT 2014
4, 14 Hedoedd 2015
14th WOV 2015

Q63

Ans

& 30 D) O SEHd SO0 WY PELVOS DB DO BB/ WO EraD
:Ogonox:md.
QPR CF0 G, CorD DD?
DD
1. Jeo &0 erd e DEDFW, JWED 0 THo €92 DEVFE SOOI B0 D
DE05Y) 9D e,
2. @Beni) D Den) 92 DeVJED, Hesy D DTy ©D DenFgrm, 8Dy D Fooan
239 Dengrtd BoIN Fean D DY 6 Henrd

Read the following question and decide which of the given statements is/are sufficient to
answer the question.

‘What is the colour of human blood?
Statements:

1. Blue is called pink, red is called orange and orange is called yellow.
2. White is called black, black is called green, green is called brown and brown is
called red.

b

09 £ DIFTIDEEIS 1 0B 2 Tocsr DO Erow.

Both 1 and 2 together are sufficient to answer the given question.

5 2.

D) VD PATTOHDDYEPDS 2 Drgo POTE0d od 1 argo HOTW.

2 alone is sufficient while 1 alone is not sufficient to answer the given question.
X 3.

09) 9 DATTADDETIE 1 GE 2 IF 2,560 28T B00d.

Either 1 or 2 is sufficient to answer the given question.

v 3

03) O DATTTIDDEPDS 1 &rgo PO 008 oNB 2 Argo OV,

1 alone is sufficient while 2 alone is not sufficient to answer the given question.

Q64

Ans

Botsad D30 200D D30T R0EIOGDNDY LT DOTED DEDDE ESt AL TN A ]
Do docnEod.

DB e SD0G 2 TrEROCE Dezdo:

Select the option that is related to the third term in the same way as the second term is
related to the first term.

Electricity : Galvanometer :: Atmospheric Pressure :
N e85 D0ed (a6 )

Barometer

(22)
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p )

P8 b (2oardso)

| Hydrometer

%;hffémﬂbamﬁ{dgﬁm Srnso)
5

Sphygmomanometer

< 4

Osmometer

Qa0 S0

Q.65 ¢ Zod DEE 2.8 ‘(oo;‘.‘»@hdmé" 25 2008 DY LD DDA CAFHSE0E. LY

Ans

Do Do) Ded Jowd ?

By DebEY (dSranad’) Dy Roayg
1.5 4
2 5
2.4 8
3 5
3.2 2
3.4 1

The following table shows the gain in weight by 25 children in a year. What is the mean
value of gain in weight?

Gain in weight (in kg)

No. of children

1.5 4
2 5
24 3
3 5
3.2 2
3.4 1

vi24
K232

<321
K410

Q.66 00t REDED A 20OID B 28 HFHD DO 32 00050 48 riotrnds® Do, H6 80

Ans

2D D6 BEHBLD Pip € Do FH 64 o a9 Saniie. Froezoe’, &

ardr eﬂ:‘)‘l;a)ba) 2 A 0805w ) C BooeIcPoD. §'.;')g_ 1oL DT, 3o A

FDDODVLEDE DA PP B BOHNEH6. Doodo D6 S Docerds 112 foten

208289 6. 2 B ID) fioeen SOHEHE?

Two pipes A and B can fill an empty cistern in 32 and 48 hours, respectively. Pipe C can
drain the entire cistern in 64 hours when no other pipe is in operation. Initially, when the
cistern was empty Pipe A and Pipe C were turned on. After a few hours, Pipe A was
turned off and Pipe B was turned on instantly. In all it took 112 hours to fill the cistern.
For how many hours was Pipe B turned on?

< 184
X277
< 370
W72

(23)
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Q.67 D&3e5° HiEd 200l e06G DD DM Bt a0 DO?
Which of the following methods will separate water from muddy water?

Ans B350 (3T809).
" nysta]lisation
) R0 (ERTOD).
Distillation
. DT (T0°ED (F:00800 DHRS) .
Separating funnel

v DT (De00D)
Filtration

Q.68 0%y 2omd 0 &oS G5 3365 — 0 0D @5 Te9DD DPoED SUDD woejg“@(ﬁ) 4365 esét D
22085 8306 dIns); ees ST

The book *Six Machine: I Don’t Like Cricket — I Love It” is the autobiography of which
Jamaican cricketer who plays international cricket for the West Indies?

Ans * 1 20265 HOD
Sunil Narine
v 30 e
2.
Chris Gayle

e50¢5T RS

Andre Russell

=00 2035 epa
Darren Michael Bravo

&3

<A

Q.69 Hoerer &5 g8 R TFevw) B TrCaBdHoS™D D TRed” DOLIFosEBI0A?

The annual buffalo race called Kambala is a festival celebrated in which Indian state?
Ans ER oty o
<1
Odisha
soetos
]

Y &3
Karnataka

[=lel=]

Kerala
DoaIPe)
Punjab

5 3.

~< 4

Q.70 28 RawrEros™d 5 wdds) Dopgo D 15 0 0doin HHwrired (v Do
Dopgo gy, ity 17 T @agetod. 3Dy Domdjen DD Ddirfony, HNdS
Romger e 18.25. e Hrurired® &) Dwdo Lonjrn D) ?

The mean of the 5 smallest numbers from a group is 15 while the mean of all the numbers

of the group taken together is 17. If the mean of the numbers leaving the smallest five out
is 18.25, how many numbers were there in the group in all?

Ans 2112
V213

(64
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X314
X 48

Q.71 VWY9PONISFSLUDTG61A) S0 ghd eseroorr, Sob DAde” o%bhﬁ"m DY

Ans

Dot ol

VN, PF, 5U,

On the basis of the sequence VWY9PONISFSLUDTG61AT, select the missing term from
the following series.

VN,PF,5U,
X 1U6
X2 1G
XaLT
v UG

Q.72 & 306 TvHS° LDTTFOTD .Dd)g QOTErDS GO 50 D67

Ans

Which of the following is not an example of a biomass energy source?

Foln
< L i

Cow dung

ey 33
v &) -

Atomic energy

N1

X 3. b
Wood

BT
Ethanol

~< 4.

Q.73 Qdy® 5@ dg), 7P HBF0S” PO POV 0D DY Jococ.

Ans

?

Select the option that will correctly fit in the blank space of the given figure.

(29)
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&< 4

Q.74 & 308 TOS® D DELIL 2Dy Tor Sy ?

podeD:

A) 28 DOODE I Mol HES SBTLRPNED, SR GICHD BoirIOe DO

0%1)@)0& S0d0in acard DAaod.

B) eseS"be> sy, GFoDE DIOO[ED BT DGE I0E), a0eS* SobHd
mé&@bm EDTEO0D.

‘Which of the following statements is/are true or false?

Statements:

A) On moving from left to right in a period, the chemical reactivity of elements first
decreases and then increases.

B) The chemical reactivity of non-metals increases on going down in a group of the
periodic table.

x wELden A Hudoin B @@Dw
1.

Statements A and B are false
DL A 0B B Socir 2T
<2
Statements A and B are true
v D500 A 20Dy, T B Sy
3.
Statement A is true, but B is false
205635 B 2sadyy, S A 655D
- A )
Statement B is true, but A is false

Q75 306 DATEFIS Bot3D LHAD) JowEol.

Ans

V[ W |MAWV
A B C D
Select the figure that does NOT belong in the following group.

V (W [MAIWV
A B C D
X< 1B
vocC
K3 A

(26)
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“ X 4D
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